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mx + cx + kx = FyCos(wt)

X(8) = X gans (1) + X, (1) X yans (1) = € ™" (Acos(@, ) + Bsin(w, 1))

X, () = X cos(wt — @)
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mx + cx + kx = FyCos(wt)

X(t) - Xh'.ms (t) + Xss (t)

X, (r) =X cos(wr — @)
X, (1) =—0X sm(of — @)

X (1) =-’X cos(at — @)

—mo’Xcos(ot — ) — CoXsin(ot — ¢)
+ KXcos(ot — ¢) = F cos(mt)

cos(ot — ¢) = cos(mwt) cos(d) + sin(wt) sin(¢)

sin(ot — ¢) = sin(wt) cos(¢p) — cos(mt)sin(p)

= (K- mo*)X cos(¢) + CoXsin(dp) = F,
= (-Co)X cos($) + (K — mo* )X sin(dp) = 0

— X = = ¢ =
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. X, (1) = X cos(art — @)

T
L= iy

k m

Fo

: X = 242 2703
[(k—mo) )"+ (Co) ]0

mx + cx + kx = FyCos(wt)

X(t) = Xh'a.ns (t) T Xss. (t)

b — tan‘l( Co )

K —mo?

(1) =e " (Acos(w,t)+ Bsin(w,1))+ X cos(ar — §)
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